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Reasons Why Fundamental Accounting Concept1 Test Fails 

IS8 

Net Income (Loss) Available to Common Stockholders, Basic = Net Income (Loss) Attributable to Parent 

- Preferred Stock Dividends and Other Adjustments 

 

What this rule tests 

This rule tests the relationship between three line items of a financial report: 

 Net Income (Loss) Attributable to Parent 

 Preferred Stock Dividends and Other Adjustments 

 Net Income (Loss) Available to Common Stockholders, Basic  

If a reporting entity has no Net income (loss) attributable to noncontrolling interest and has no Preferred 

stock dividends and other adjustments then:  

Net income (loss) = Net income (loss) attributable to parent = Net income (loss) available to common 

stockholders, basic 

However, if a reporting entity does have Preferred stock dividends and other adjustments; then that 

value is the difference between net income (loss) attributable to parent and net income (loss) available 

to common stockholders, basic. 

Of all reporting entities, 99.9% conform to this relationship.  There are a small number that do not, 

.01%. The following is a summary of these reasons: 

 Preferred stock dividends and other adjustments not the total amount of adjustments 

 

Analysis of Common reasons why test fails 

Preferred stock dividends and other adjustments not the total amount of adjustments 

The following reporting entity reported a reconciling item outside the total amount of all reconciling 

items: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1434743&accession_number=0001354488-13-

006179&xbrl_type=v#  

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1434743&accession_number=0001354488-13-006179&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1434743&accession_number=0001354488-13-006179&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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To represent the line item “Accretion of preferred stock to redemption value” the filer used the concept 

us-gaap:PreferredStockDividendsAndOtherAdjustments which is the total of all possible adjustments in 

reconciling net income (loss) attributable to parent and net income (loss) available to common, basic: 

 

This can be seen from the US GAAP XBRL Taxonomy: 

 

Outside that total, the filer adds another adjustment,  
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The filer is mixing a total concept and potentially a detailed concept together.  It seems that us-

gaap:DividendsPreferredStock should be included in the list of adjustments.  That could be an error in 

the US GAAP XBRL Taxonomy. Or, it could be that the filer should have used the concept “Preferred 

Stock Dividends, Income Statement Impact” which has the documentation, “The amount of preferred 

stock dividends that is an adjustment to net income apportioned to common stockholders.” 
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1411488&accession_number=0001411488-14-

000006&xbrl_type=v#  

 

The filer reports net income (loss) attributable to parent of 2,275. 

 

In the Earnings per share disclosure, the filer (a) represents that there were “Payments for dividends 

declared” using the concept intended for the income statement, us-

gaap:PreferredStockDividendsAndOtherAdjustments.  

 

Therefore, per the amount of net income (loss) available to parent and the preferred stock dividends 

and other adjustments, there should be net income (loss) available to common stockholders 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1411488&accession_number=0001411488-14-000006&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1411488&accession_number=0001411488-14-000006&xbrl_type=v
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In different earnings per share detailed disclosure, the filer does provide a reconciliation between net 

income (loss) attributable to parent and net income (loss) available to common stockholders, basic; but 

the total reconciling items is NOT the amount expected: 

 

This is the HTML version of the information: 

 

The filer is mixing the basic and diluted representation.  These could easily have been represented in the 

form of two roll ups rather than combined into one roll up which mixes the basic and diluted 

information together. 
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=922864&accession_number=0000922864-14-

000040&xbrl_type=v# 

 

 

 

Reconciling item outside of total reconciling items: 

 

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=922864&accession_number=0000922864-14-000040&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=922864&accession_number=0000922864-14-000040&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1081860&accession_number=0000939057-13-

000511&xbrl_type=v# 

On the face of the income statement, the filer provides a reconciliation with two concepts. However 

then two things happen in the disclosures.  First, DIFFERENT concepts are used in the disclosure, one of 

which is the TOTAL of the reconciling items.  Second, because different concepts are provided, duplicate 

facts are reported.  Third, the different facts are entered using different polarity (i.e. one is positive, the 

other is negative: 

The income statement: 

 

 

 

The disclosure: 

HOWEVER, in the disclosure, the filer provides the SAME line items but using DIFFERENT FACTS with 

DIFFERENT concepts. 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1081860&accession_number=0000939057-13-000511&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1081860&accession_number=0000939057-13-000511&xbrl_type=v
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As such DUPLICATE FACTS are being reported, one represented as positive, the other negative: 
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1507385&accession_number=0001507385-14-

000028&xbrl_type=v#  

The concepts on the income statement are correct, although the reconciliation is not shown.  Although 

it is not required perhaps, it makes less sense to just show the values without showing the reconciling 

items. 

 

 

But the error occurs because the filer created an extension concept for to report the fact “Net loss 

attributable to common stockholders” in the disclosures: 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1507385&accession_number=0001507385-14-000028&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1507385&accession_number=0001507385-14-000028&xbrl_type=v
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That causes duplicate facts: 
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1568319&accession_number=0001568319-14-

000036&xbrl_type=v# 

Filer uses the total concept and then a detailed concept at the same level (the total includes the detail): 

 

 

 

 

 

 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1568319&accession_number=0001568319-14-000036&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1568319&accession_number=0001568319-14-000036&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1009379&accession_number=0001157523-12-

005904&xbrl_type=v#  

So, for some reason the filer reconciles not Net income (loss) attributable to parent, but rather Income 

from continuing operations.  Regardless of what the filer reconciles, the concepts are the same and the 

relations are intact. 

This is the income statement: 

 

 

This is the earnings per share disclosure: 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1009379&accession_number=0001157523-12-005904&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1009379&accession_number=0001157523-12-005904&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088413&accession_number=0001354488-14-

001833&xbrl_type=v# 

Don’t understand this.  Might not be an error: 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088413&accession_number=0001354488-14-001833&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1088413&accession_number=0001354488-14-001833&xbrl_type=v

